AN

V LINER

A BOX"

By MAXUNER

UTILITY BOX INSTALLATION INSTRUCTIONS

sinstruction procedure

b‘mmaoé the bedliner from the truck

3.4 Drill the front side of bedliner as color marking position
by a bit size 8 mm.

E Install Support Plate and Front Plate to the Box.
2.1 Attach Front Plate and Support Plate with Bolt MEx40 mm.
Front inside the Box to outside.

>
Wi

Inside
(Attach Front Plate)

Outside
(Attach Support Plate)

I.»I_ Install the Box on the bedliner.
4.1 Remove Support Plate from the Box.

|_w Marking the holes.
3.1 Attach Bolt M6x60 mm. into the Support Plate.
3.2 Use marker paint on the end of Bolt.

_—Color marking |

Front Side
(Attach Support Plate)

Back Side
(Attach Back Plack)

3.3 Push the Box against the front side of bedliner for color marking.
Then remove the Box from the bedliner.

Amma.mmx : Box position on center of bedliner)

4.3 Install bedliner on the truck.

4.4 Put the Box on the bedliner.

4.5 Attach Front Plate to Support Plate with Bolt M6x40 mm.
from inside the Box to outside.

—

=T [
TN,

% Vandapac Co., Ltd.
.u 700/135 Moo 5, Klongtumru, Muang Chonburi, Chonburi 20000 Thailand Tel : (038)743-582-3,743-729, Fax : (038)743-730 Email : mail @ vandapac. com

2/

2



1

Rev.00

) UTILITY BOX INSTALLATION INSTRUCTIONS

e el oo R e A RN S S
By MA.

Caution for installation

1. Area which would to install Maxbox shoud have background material

2. During install Maxbox Extra (Person who install) should take off any omaments mco: as watch, belt, ring, ect.

Product name

Model name ALL MODEL
Instructions F41-04EXT00
Insl. number L01-0056

Component parts

MAXBOX CONCORDE EXTRA SERIES I

@ ®

®

B

L
=

\

®

00 awmg

\\/f;

Flat rate : -- hr.
No. Part Name Q'ty
1. | Maxbox Concorde Extra Series I ’ 1 Set
2. | Support Plate 2 Pcs.
3. | Hex Bolt M6x40 mm. Washer, Spring 4 Sets
4. | Hex Bolt M6x60 mm. Washer, Spring 4 Sets
5. | Front Plate . 2 Pcs.
6. | Back Plate 4 Pcs.
7. | Rubber Support 8 Pcs.
8. | Installation manual 1Pc.

Tools used

1. Drill 2. Bit 8 mm.

3. Wrench No. 10

& Vandapac Co., Ltd.
A. ) 700/135 Moo 5, Klongtumru, Muang Chonburi, Chonburi 20000 Thailand Tel : (038)743-582-3,743-729, Fax : (038)743-730 Email : mail @ vandapac. com

1

/

2



